(*) Molec

Heavy-Duty Camera Solutions

B

Artikel: MC9000-H1-(L)**

Art.-Nr.: 4060199000 / 40601999001**

Montagehinweis / Assembly Instructions

= o
i%?</ GMC9000-8
D* i

100 g

100 \ "

“_ _ M8x20-DIN7991

Sy

o
S

20021-00025

2%
M4-DIN934
M4-DIN127

2%

M4x30-ULS
M4-DIN934
M4-DIN127

100 P i
M4x35-ULS
N 1507380
o+ | \& RKS 1-8/12
100 - dx ‘ !
\ M4x8-DIN7985
~ g G . i Pos.2
40| ™ i
™ - Pos.1 -
|
D*=M8 x 15
**Montage / Assembly MC9000-H1-L;
4060199001: Abbildung spiegelbildlich / Figure inverted
Motec GmbH Phone +49 6433 9145-0
Oberweyerer Stralte 21 Fax +49 6433 9145-45

65589 Hadamar-Steinbach

info@motec-cameras.com

GERMANY www.motec-cameras.com



